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Example:Find all (x,y) such that5x+3y=25 and 24-7y=-31.
y We are asking for the simultaneous solution of a

-

· (2,5)

2x -7y =- 31 ystem oftwo equations intwo unknowns and
y.E

X (1)

8 E (27 2 x3- 577) =6+35
=4I

2x(1) - 5x(2) =(3)
41y =205 2x25

- 5x(-31) =50+155
5x +3y=25 y

=5 (4) =(3) =41 =

205

Solution:(x,y) =(2,57 is the
5x +15 =25

unique solution.
5x =10

X
=2

Example: Find all (y) such thatyes and 10x+by =17.-

this system is inconsistent:it has no solution.

(1)

,istene
5x +3y=25
10x +by =17



Example:Find all wins such that225 and 75.

This system is consistent but the solution is not

unique:thereare infinitely many solutions.

5x +3y=25 ci

-x9y:75 (2)

0 =0 (3) =3x(,) - (27

5x+3y
=

25

15x +9y =75


